8 7 6 5 : 4 3 2 1
ST —— e OIS e LD ST L o REVEIONS
OR DISCLOSED IN WHOLE OR IN PART FOR ANY PURPOSE OTHER THAN TO MAINTAIN THE EQUIPMENT REV DESCRIPTION DATE ENGR
PROVIDED. CONSULT WITH VIRGINIA PANEL CORPORATION ENGINEERING IF MORE DETAIL IS REQUIRED. | pp | ECN #10649 9/24/20 JWER
[ %_._I
C
© ® ®
( C )
C \ )
© ®
C )
| — T
( [50.80] E
. 2.CiOO
- [135.53] _
5.336
PLATFORM SHIPPED ACCORDING TO P/N VARIANT
DETAIL A
SCALE2Z:3 310104334 PLATFORM SHIPPED ASSEMBLED TO RCV
PLATFORM SHIPPED LOOSE, SEE PAGE 2 FOR
310104334-1 ASSEMBLY INSTRUCTIONS
HANDLE SHOWN IN THE TYPICAL
DIS-ENGAGED POSITION.
- [534.42]
21.04
- [482.50] _ - [560.32] _
19.00 22.06
[465.02]
18.31 — MOUNTING HOLES FOR B [493.01] -
MICRO SWITCH LOCATION. 10-32 CAP SCREWS - 19.41 -
SEE NOTES FOR WIRING (USED TO HOLD RECEIVER TO RACK)
INSTRUCTIONS. /_A l
7 HANDLE SHOWN IN THE TYPICAL %
> Y ENGAGED POSITION .. .
° ® © [270.54]
> [132.08] 10.65
5 - 'j B 5.200 o
u —— i H —
' N T ) N =)
HANDLE CAN BE LOOSENED AND \
ROTATED IN 90 DEGREE INCREMENTS.
KEYING PLUG LOCATIONS
PATTERN 1 PATTERN 4
RECIEVER TA RECIEVER TA
PN A PN C SCREW A | SCREW C PN A PINC SCREW A | SCREW C
INSTALLED | INSTALLED OPEN OPEN OPEN OPEN INSTALLED | INSTALLED
PN B PN C SCREW B | SCREWD PN B PIND SCREW B | SCREWD
OPEN OPEN INSTALLED | INSTALLED INSTALLED | INSTALLED OPEN OPEN
& IF KEYING IS REQUIRED USE VPC KEYING KIT PART NUMBER 310118112. PATTERN 2 PATTERNS
SEE TABLE FOR KEYING OPTIONS. RECIEVER A RECIEVER A
PN A PN C SCREW A | SCREW C PN A PINC SCREW A | SCREW C
5. RUBBER FEET MAY BE REMOVED AND RECEIVER SECURED TO TO THE INSTALLED | OPEN OPEN | INSTALLED OPEN | INSTALLED INSTALLED |  OPEN
TABLE WITH 1/4-20 SCREWS. PNB PND SCREW B | SCREWD PNB PND SCREW B | SCREWD
INSTALLED OPEN OPEN INSTALLED INSTALLED OPEN OPEN INSTALLED
4. WEIGHT: APROXIMATELY 26 POUNDS, ALLUMINUM AND STEEL. CUSTOMER DRAWING
3. FOR RACK MOUNTING APPLICATIONS, SLIDE KIT IS REQUIREDO; (2) 10-32 x 1.00" PATTERN 3 PATTERN 6
SOCKET HEAD CAP SCREWS INCLUDED TO SECURE THE RACK WHEN NOT IN USE. RECEVER A RECEVER A VIRGINIA PANEL CORPORATION
PNA PNC SCREW A | SCREW C PNA PNC SCREW A | SCREW C WWW.VPC.COM
2. MICROSWIT%H WIRES NOT SHOWN. COLOR CODE AS FOLOWS OPEN | INSTALLED INSTALLED | OPEN INSTALLED | OPEN OPEN | INSTALLED
RED- N.C. PNB PN D SCREW B | SCREWD PN B PND SCREW B | SCREWD "
WHITE- N.O. OPEN | INSTALLED INSTALLED | OPEN OPEN | INSTALLED INSTALLED | OPEN RECE'VER, G] 2 WlTH 20
BLACK- COMMON Rieeiger | PLATFORM FOR SLIDE MOUNT
1. FOR APPLICATION USE AND CARE INFORMATION CONSULT VPC USERS GUIDE @ WWW.VPC.COM DIMENSIONS ARE SHOWN AS;  |SIZE |[CAGE CODE DWG.NO. REV
NOTES: MATING ITA PROTECTIVE COVER | RACK EXTENDER FOR EURO RACKS (MILLIMETERS] | D] 18117 310104334 BB
410104322 310113402 A 310113406 INCHES SCALE: 1:8 1310104334 4/6/04|SHEET 1 OF?2
8 | 7 | 6 5 ’ 4 3 2 | 1




8 7 6 5 | 4

5O NOT SCALE DRAWING THE INFORMATION CONTAINED HEREIN IS THE EXCLUSIVE PROPERTY OF VIRGINIA PANEL CORPORATION REVISIONS
AND IS SUBMITTEDFOR USE BY THE CUSTOMER ONLY. THE DATA SHALL NOT BE DUPLICATED, USED,
OR DISCLOSED IN WHOLE OR IN PART FOR ANY PURPOSE OTHER THAN TO MAINTAIN THE EQUIPMENT REV DESCRIPTION DATE ENGR
PROVIDED. CONSULT WITH VIRGINIA PANEL CORPORATION ENGINEERING IF MORE DETAIL ISREQUIRED. | BB | ECN #10649 9/24/20 JWB

310104334-1 PLATFORM ASSEMBLY

;
!

z&#8 WASHER TYP 4

PLATFORM
SCREW 8-32 BOTTON HEAD TYP 4
RECEIVER
CUSTOMER DRAWING
VIRGINIA PANEL CORPORATION
WWW.VPC.COM
RECEIVER, G12 WITH 20"
RELATIVE CONNECTOR POSITIONS PLATFORM FOR SLlDE MOUNT
1. FOR APPLICATION USE AND CARE INFORMATION CONSULT VPC USERS GUIDE @ WWW.VPC.COM DWENSIONS ARE SHOWN A5, —[SIZE_JCAGE CODE_—DWGNO REV
NOTES: [MILLIMETERS] DI 1811/ 310104334 BB
| INCHES SCALE: 1:4 [310104334 4/6/04| SHEET 2 OF 2
8 | 7 | 6 5 ! 4 3 2 | 1




	Sheet1
	Drawing View1
	Drawing View3
	Drawing View23
	Drawing View24

	Customer 1
	Drawing View9
	Drawing View13
	Drawing View15
	Drawing View17
	Detail View A (2 : 3)
	Drawing View27

	Customer 2
	Drawing View39


